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7 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 4.41 55.03 | NS | 000 ~ 441 1.95 9.87 st 1.00 | 6.00 ~ 5.00 55.03 | =nLs | 6,00 ~ 5.00| 1.95 9.87
2 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 000 ~ 732 9334 | #nLS | 000 ~ 000 1.76 8.90 st 1.00 | 6.00 ~ 941 93.34 | ThLSN | 600 ~ 941 | 1.76 8.90
3 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 720 91.59 | #nLS | 000 ~ 720\ 1.89 9.57 st 1.00 | .00 ~ 953 91.59 | =hLs | .00 ~ 9563 | 1.89 9.57
4 100kN/mM%BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 727 9257 | #nLS | 000 ~ 727 1.87 9.47 st 1.00 | 6.00 ~ 9.58 92.57 | #hLS | 5,00 ~ 958 1.87 947
5 100kN/mM%E{BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 7.38 94.20 | #nLS | 000 ~ 7.38| 1.81 917 st 1.00 | 6.00 ~ 9.61 94.20 | =hS | 500 ~ 9.61| 1.81 917
P 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3m%i#BZ % - ~ — — —
s 1.00 | 0.00 ~ 7.38 94.18 | #nLS | 000 ~ 7.38| 1.83 9.26 st 1.00 | .00 ~ 9.66 94.18 | =hLs | .00 ~ 9.66 | 1.83 9.26
7 100kN/m%E#BZ5 | 1.00 | 000 ~ 036 10534 |3mEBZD| — ~ — — — | 100kN/ %825 | 1.00 | 10.71 ~ 11.68| 10534 |3m&E#Z5 - ~ — — —
ZhLlst 1001036 ~ 815\ 100.00| This | 000 ~ 815|228 11.54 zhilst 100 5.00 ~ 1071 100.00 | =nst | 6.00 ~ 11.68] 2.28 11.54
3 100kN/m#E#Z5| 1.00 | 000 ~ 017 102.49 |3mZE#ZB| — ~ — — — | 100kN/m%#B=z% | 1.00 | 11.22 ~ 11.68| 10249 |3m%E#Z5 - ~ — — —
zhLlst 100|017 ~ 795\ 100.00| This | 000 ~ 795|238 12.04 zhilst 1.00 | 5600 ~ 1122 100.00| FnLs | 500 ~ 11.68| 2.58 12.04
9 100kN/m#E#Z5| 1.00 | 000 ~ 028 104.18 |3mZE#ZB| — ~ — — — | 100kN/m%#Bz% | 1.00 | 1091 ~ 11.68| 10418 |3m%E#Z5 - ~ — — —
ZhLlst 1.001028 ~ 807| 100.00| Fhis | 000 ~ 807|233 11.78 zhilst 1.00 | 5.00 ~ 1091 100.00 | 0S| 6.00 ~ 11.68] 2.33 11.78
10 100kN/m#z#Z5| 100|000 ~ 042 10615 |3m&E#BZB| — ~ — — — | 100kN/m%#Bz% | 1.00 | 1053 ~ 11.68| 106.15 |3mE#Z5 - ~ — — —
zhlst 100|042 ~ 820 100.00| Fhis | 000 ~ 820 2.17 10.99 zhilst 1.00 | 56.00 ~ 1053 100.00| FhLS | 500 ~ 11.68| 2.17 10.99
11 100kN/mM%EBZ 5 — - ~ — —|3mZEiB2B| — ~ — — — | 100kN/m%E#8% % — - ~ — — |3m%iBZ % - ~ — — —
ZhLlst 100|000 ~ 477 59.50 | #=hst | 000 ~ 000|173 877 Zzhst 1.00| 5.00 ~ 5.00 59.50 | Ths | 5.00 ~ 500 1.73 877
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ ZhLst ~ st ~
100kN/mM%EBZ 5 ~ ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ ZhLst ~ st ~
100kN/mM%E{BZ 5 ~ 3ImEHEAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhnLst ~ zhst ~ st ~
100kN/mM%EBZ 5 ~ 3ImEHAD ~ 100kN/ Mm% A5 ~ ImEBRD ~
ZhLst ~ ZhLst ~ Zhst ~ st ~




